
YAMAHA FZ-09 (MT-09) ’14-’16  / XSR900 ‘16- 
FRAME SLIDERS
part# Y-MT09FS

[L]

 1. (R) SLIDER PUCK [SDR-L10MFJ]
 2. (L) SLIDER PUCK [SDR-L10-85MFJ]
 3. (R) SLIDER BASE OUTER 
 4. (L) SLIDER BASE OUTER
 5. (R) SLIDER BASE INNER (BK)
 6. (L) SLIDER BASE INNER (BK)
 7. COLLAR 10-6  [CLR-10-6]
 8. COLLAR 15-6  [CLR-15-6] 
 9. COLLAR 20-10  [CLR-20-10]
10. COLLAR 7.5-10  [CLR-75-10]
11. COLLAR 10-10  [CLR-10-10]
12. COLLAR 13-10  [CLR-13-10]
13. COLLAR 15-10S  [CLR-15-10S]
14. COLLAR 25-10S  [CLR-25-10S]
15. SOCKET HEAD M6×25  [SBT-M625]
16. SOCKET HEAD M6×30  [SBT-M630]
17. SOCKET HEAD M10×50 (P-1.25)  [SBT-M1050]
18. SOCKET HEAD M10×55 (P-1.25)  [SBT-M1055]
19. SOCKET HEAD M10×70 (P-1.25)  [SBT-M1070]
20. SOCKET HEAD M10×75 (P-1.25)  [SBT-M1075] (Qty:2)
21. SOCKET HEAD M10×80 (P-1.25)  [SBT-M1080]
22. WASHER M10  [WS-10] (Qty:2)  
23. WASHER (STOCK YAMAHA PART) (Qty:3)

21

14

1

2

3

4

5

6

7

8

10

11

12

9

13

15

16

20

20

19

18

17

22

23

23

22

23

satoracing.com

[R]


